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If you miss a question, mark the correct answer. Add the total points (at 1 each) and write it clearly in the blank for Total Points.
	1.
	In 1856, on the floor of the U.S. Senate, Congressman Preston Brooks of South Carolina almost beat to death Senator __________ of Massachusetts. a. James Buchanan  b. Andrew Johnson   c. Franklin Pierce  *d. Charles Sumner    e. Zachary Taylor



	2.
	As a candidate for a senatorial position in Illinois, this individual thought that slavery was morally wrong and slavery ought to be allowed to exist but not to expand. As President, however, he issued the Emancipation Proclamation:

*a. Abraham Lincoln        b. Stephen Douglas        c. Dred Scott        d. John Brown



	3.
	This individual, when in Kansas, and his followers murdered and mutilated five pro-slavery settlers in retaliation for pro-slavery forces’ “sack of Lawrence.” In 1859, he led a raid on Harpers Ferry, a raid that led the South to assume that the North was dominated by people intent on destroying the South: a. Abraham Lincoln        b. Stephen Douglas          c. Dred Scott     *d. John Brown


	4.
	As the Civil War began, what was the North's strength in waging war?

*a. Its stronger industrial base, railroad system, larger population, and its not having to face blockades
b. Its superior military leadership     c. A strong and unified commitment by the government to end slavery

d. Its united commitment by the people to fight the war


	5.
	This 1862 battle was among the bloodiest engagements, it was indecisive militarily, and the North lost an opportunity to destroy much of the Confederacy. It was, however, technically a Union victory. President Lincoln, therefore, used the technical victory as a justification for issuing the Emancipation Proclamation:

a. Charleston, South Carolina (Fort Sumter)                       b. Harper’s Ferry, Virginia                       c. Manassas, Virginia (Bull Run)

d. Pittsburgh Landing, Tennessee (Shiloh)                  *e. Sharpsburg, Maryland (Antietam Creek)
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	1.
	The Supreme Court found in 1857 that this individual could not bring suit to prove he was a free person because he was not a citizen of the United States. The Court further found that slaves were property and the Missouri Compromise was unconstitutional, a decision that the South viewed as a vindication of slavery.  a. Frederick Douglass  b. Stephen Douglas *c. Dred Scott  d. John Brown


	2.
	The location of this state and the desire to connect its chief city with the west and the transcontinental railroad had earlier encouraged Democratic Senator Stephen Douglas in the mid-1850s to push through legislation to organize the Kansas-Nebraska Territory and to argue for the doctrine of popular sovereignty. In 1858, the state’s senatorial contest resulted in debates between Douglas and the Republican Abraham Lincoln over slavery and popular sovereignty especially given the new Dred Scott decision. Although Lincoln lost in the senatorial position in this state, he gained recognition that made him a presidential candidate in 1860.

*a. Illinois      b. Kansas      c. Maryland      d. South Carolina      e. Virginia



	3.
	Following this engagement in April 1861, four more slave states left the Union. Lincoln informed the South he would send supplies (but not troops or munitions), but the South bombed the federal installation in the harbor for two days until it surrendered:

*a. Charleston, South Carolina (Fort Sumter)      b. Harper’s Ferry, Virginia                          c. Manassas, Virginia (Bull Run)   d. Pittsburgh Landing, Tennessee (Shiloh)           e. Sharpsburg, Maryland (Antietam Creek)


	4.
	As the Civil War began, what advantage did the South have over the North?

*a. A clear and firm commitment to fight the war
b. Better transportation capabilities due to its waterways      c. Greater financial reserves due to its massive cotton industry

d. More combat-age males


	5.
	The Western campaign was crucial to victory for the Union because it would enable the North to reach into the interior of the South. In April 1862, the South seemed to be winning over the North at this battle, but the Union received 25,000 reinforcements overnight and pushed back the Southern forces with heavy losses on both sides:

a. Charleston, South Carolina (Fort Sumter)                      b. Harper’s Ferry, Virginia                            c. Manassas, Virginia (Bull Run)

*d. Pittsburgh Landing, Tennessee (Shiloh)                                                                        e. Sharpsburg, Maryland (Antietam Creek)
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	2.
	As a candidate for a senatorial position in Illinois, this individual thought that slavery was morally wrong and slavery ought to be allowed to exist but not to expand. As President, however, he issued the Emancipation Proclamation:

*a. Abraham Lincoln        b. Stephen Douglas        c. Dred Scott        d. John Brown



	3.
	This individual, when in Kansas, and his followers murdered and mutilated five pro-slavery settlers in retaliation for pro-slavery forces’ “sack of Lawrence.” In 1859, he led a raid on Harpers Ferry, a raid that led the South to assume that the North was dominated by people intent on destroying the South:

a. Abraham Lincoln        b. Stephen Douglas          c. Dred Scott         *d. John Brown



	4.
	As the Civil War began, what was the North's strength in waging war?

*a. Its stronger industrial base, railroad system, larger population, and its not having to face blockades

b. Its superior military leadership

c. A strong and unified commitment by the government to end slavery

d. Its united commitment by the people to fight the war


	5.
	This 1862 battle was among the bloodiest engagements, it was indecisive militarily, and the North lost an opportunity to destroy much of the Confederacy. It was, however, technically a Union victory. President Lincoln, therefore, used the technical victory as a justification for issuing the Emancipation Proclamation:

a. Charleston, South Carolina (Fort Sumter)                       b. Harper’s Ferry, Virginia                       c. Manassas, Virginia (Bull Run)

d. Pittsburgh Landing, Tennessee (Shiloh)                                        *e. Sharpsburg, Maryland (Antietam Creek)
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	The Supreme Court found in 1857 that this individual could not bring suit to prove he was a free person because he was not a citizen of the United States. The Court further found that slaves were property and the Missouri Compromise was unconstitutional, a decision that the South viewed as a vindication of slavery.

a. Frederick Douglass      b. Stephen Douglas      *c. Dred Scott      d. John Brown
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	The location of this state and the desire to connect its chief city with the west and the transcontinental railroad had earlier encouraged Democratic Senator Stephen Douglas in the mid-1850s to push through legislation to organize the Kansas-Nebraska Territory and to argue for the doctrine of popular sovereignty. In 1858, the state’s senatorial contest resulted in debates between Douglas and the Republican Abraham Lincoln over slavery and popular sovereignty especially given the new Dred Scott decision. Although Lincoln lost in the senatorial position in this state, he gained recognition that made him a presidential candidate in 1860.

*a. Illinois      b. Kansas      c. Maryland      d. South Carolina      e. Virginia
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	Following this engagement in April 1861, four more slave states left the Union. Lincoln informed the South he would send supplies (but not troops or munitions), but the South bombed the federal installation in the harbor for two days until it surrendered:

*a. Charleston, South Carolina (Fort Sumter)                           b. Harper’s Ferry, Virginia                          c. Manassas, Virginia (Bull Run)

d. Pittsburgh Landing, Tennessee (Shiloh)                                                                             e. Sharpsburg, Maryland (Antietam Creek)
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	As the Civil War began, what advantage did the South have over the North?

*a. A clear and firm commitment to fight the war

b. Better transportation capabilities due to its waterways

c. Greater financial reserves due to its massive cotton industry

d. More combat-age males



	5.
	The Western campaign was crucial to victory for the Union because it would enable the North to reach into the interior of the South. In April 1862, the South seemed to be winning over the North at this battle, but the Union received 25,000 reinforcements overnight and pushed back the Southern forces with heavy losses on both sides:
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	As a candidate for a senatorial position in Illinois, this individual thought that slavery was morally wrong and slavery ought to be allowed to exist but not to expand. As President, however, he issued the Emancipation Proclamation:

a. Abraham Lincoln        b. Stephen Douglas        c. Dred Scott        d. John Brown
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	This individual, when in Kansas, and his followers murdered and mutilated five pro-slavery settlers in retaliation for pro-slavery forces’ “sack of Lawrence.” In 1859, he led a raid on Harpers Ferry, a raid that led the South to assume that the North was dominated by people intent on destroying the South:
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	As the Civil War began, what was the North's strength in waging war?

a. Its stronger industrial base, railroad system, larger population, and its not having to face blockades
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	This 1862 battle was among the bloodiest engagements, it was indecisive militarily, and the North lost an opportunity to destroy much of the Confederacy. It was, however, technically a Union victory. President Lincoln, therefore, used the technical victory as a justification for issuing the Emancipation Proclamation:
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	The Supreme Court found in 1857 that this individual could not bring suit to prove he was a free person because he was not a citizen of the United States. The Court further found that slaves were property and the Missouri Compromise was unconstitutional, a decision that the South viewed as a vindication of slavery.

a. Frederick Douglass      b. Stephen Douglas      c. Dred Scott      d. John Brown


	2.
	The location of this state and the desire to connect its chief city with the west and the transcontinental railroad had earlier encouraged Democratic Senator Stephen Douglas in the mid-1850s to push through legislation to organize the Kansas-Nebraska Territory and to argue for the doctrine of popular sovereignty. In 1858, the state’s senatorial contest resulted in debates between Douglas and the Republican Abraham Lincoln over slavery and popular sovereignty especially given the new Dred Scott decision. Although Lincoln lost in the senatorial position in this state, he gained recognition that made him a presidential candidate in 1860.

a. Illinois      b. Kansas      c. Maryland      d. South Carolina      e. Virginia


	3.
	Following this engagement in April 1861, four more slave states left the Union. Lincoln informed the South he would send supplies (but not troops or munitions), but the South bombed the federal installation in the harbor for two days until it surrendered:

a. Charleston, South Carolina (Fort Sumter)                           b. Harper’s Ferry, Virginia                          c. Manassas, Virginia (Bull Run)

d. Pittsburgh Landing, Tennessee (Shiloh)                                                                             e. Sharpsburg, Maryland (Antietam Creek)
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a. A clear and firm commitment to fight the war

b. Better transportation capabilities due to its waterways

c. Greater financial reserves due to its massive cotton industry
d. More combat-age males
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	The Western campaign was crucial to victory for the Union because it would enable the North to reach into the interior of the South. In April 1862, the South seemed to be winning over the North at this battle, but the Union received 25,000 reinforcements overnight and pushed back the Southern forces with heavy losses on both sides:
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a. Illinois      b. Kansas      c. Maryland      d. South Carolina      e. Virginia
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	In 1856, on the floor of the U.S. Senate, Congressman Preston Brooks of South Carolina almost beat to death Senator __________ of Massachusetts.

a. James Buchanan    b. Andrew Johnson     c. Franklin Pierce    d. Charles Sumner     e. Zachary Taylor
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	As a candidate for a senatorial position in Illinois, this individual thought that slavery was morally wrong and slavery ought to be allowed to exist but not to expand. As President, however, he issued the Emancipation Proclamation:

a. Abraham Lincoln        b. Stephen Douglas        c. Dred Scott        d. John Brown



	3.
	This individual, when in Kansas, and his followers murdered and mutilated five pro-slavery settlers in retaliation for pro-slavery forces’ “sack of Lawrence.” In 1859, he led a raid on Harpers Ferry, a raid that led the South to assume that the North was dominated by people intent on destroying the South:

a. Abraham Lincoln        b. Stephen Douglas          c. Dred Scott         d. John Brown
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	As the Civil War began, what was the North's strength in waging war?

a. Its stronger industrial base, railroad system, larger population, and its not having to face blockades

b. Its superior military leadership

c. A strong and unified commitment by the government to end slavery

d. Its united commitment by the people to fight the war
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	This 1862 battle was among the bloodiest engagements, it was indecisive militarily, and the North lost an opportunity to destroy much of the Confederacy. It was, however, technically a Union victory. President Lincoln, therefore, used the technical victory as a justification for issuing the Emancipation Proclamation:
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